es

c
: (1)
Connector type Top port Side port —h
o
Pad with locking fitting =P360 =
PN[IK Barb connector PNTK PNYK o)
$15 ~ 49 Q
Q.
Female screw ®
Pad with spring fitting =P365 (without connector) NAPNTS-LJ-UJ NAPNYS-0J-UJ
NAPNCIS
Strok
15~ 25 3,:3:;mm) Push-in connector NAPNTS-(J-[1-O | NAPNYS-[1-[1-O
023 ~ 34 6,15,30
040, ¢49 10,30,50 Barb connector NAPNTS-[-[I-T | NAPNYS-[-[-T
Female screw
h NAPNTH-[- NAPNYH-[-[J
Pad with spring fitting =P370 (without connector)
non-rotative type
NAPNLIH Push-in connector NAPNTH-[J-[J-O | NAPNYH-[J-[J-O
Stroke(mm)
015~ 25 3,10,15
023 ~ 34 6,15,30
Barb connector NAPNTH-J--T | NAPNYH-O-J-T
. P Barb
Maintenance parts Locking fitting connector PFTK-[J-K PFYK-[-K
Push-in NAPNTS-[I-K-O | NAPNYS-[J-K-O
Fitting =P360, 366, 371 Sprfing type | Connector | NAPNTH-[]-K-O | NAPNYH-[J-K-O
itti _[]-K— _[]-K=
Female screw =P498 1tting Barb NAPNTS-[0-K-T | NAPNYS-[J-K-T
Pad =P375 connector | NAPNTH-[J-K-T | NAPNYH-[J-K-T
Female screw TN-PN
Pad PNG

l Pad rubber material @ : Standard O : Made to order x : None

Material Symbol Symbol Round pad
101|102{103(104|106{107(108|109(110{111|112({114|116|117(121|122|123[125|130A|130B(131
Nitrile Black N ® O|O|O|O|O|O|O|O|O|O|C|@®@|O|C|@®@|O|C| @ |@®|@®
Standard Silicone Transparent white| S @ O0O|O|O|O|O|O|O|O|O|C| @ ® | ®@|®  O|OCO(OC|@®|@®@| 0@
Urethane Blue U oOjo|0C|@|O|O|O|O|@®@|O|O|OC|@®@|O|O|O|O|@®@|O|@®@]| %
Fluorine Black with white dot| ~ F olo|lO|JO|O|O|O|lO|O|O|O|O|O|O|O|O|O|O|O|@]| x
Conductive nitrile  |Black withbluedot) NE [O | O[O [O|O O[O |O|O[O|O|O[O|O|O[O|O|O|O|O| x
Conductive silicone |[Blackwithreddot| SE | O[O |O | O[O |O|O[O|O|O[O|O|O|O|O|O|O|O|O|O]| x
Conductive urethane Black UE | O|O|O0O|O0O|O|OJO[O|IO|O|O0O|O0O|O|O[OJO[O|O|O0O|0] x
Conductive fluorine Black FE |O[O|O|O|O|O|O|O[O|O[O|O|O|O|O|O|O|O|O|0O]| x
Conductive chloroprene Black CRE | x | x | x| x| x|[x|x|x]|x]|x]|x|[x|[x|[x|x]|x]|x]|x]|x]|x]x
Nitrile HS70 Black NBR70| O[O | O | O[O |O|O[O|]O|O[|O|O|O|O|O|O|O|O|O|O]| x
HNBR Black HNBR| x | x [ x [ x | X [ x| X [ x| X | x| x| x|[x|[x|[x]|x|[x]|x]|[x]|x]|x
Made to Silicone HS30 White SI30 | O|O|O|O|O|O|O|O|O|O|O|O|O|O[O|O|O[O|O|O]| x
order |Heat resistant silicone Grey SH [O|O[|O|O|O|O|O|O|O|O[O|O|O|O|O|O|O|O[O|O]| x
Fluoro silicone Orange FSI |O|O|O|O[O[O|O|O|O|O|O|O[O|O|O|O|O|O|O|0O]| x
Antibacterial silicone Grey SAG | x | x | x [ x [ x| x| x|x|x|x|x|[x|[x|[x|x|x]|x]|x]|x]x]x
Chloroprene Green CR [O|]O|O|O|O|O|J]O|OJO|O|O|O|O|O|O|O|O|O[O|O]| x
2 Hardness Black w X[ x| X | x| x|[x|[x]|x|[x]|Xx|[x]|[x|x]|x]|x]|x]|x|[x]x]|x]x
Natural rubber Light brown NR O @/ 6| ©® 6|0 & & 0 6 & O|0O(0|0|e®|O0[0|0|x
Ethylene-propyleneene Black EPDM| O | OO [O|O[O|O|O|]O|O|O|O[|O|O[O|O|O|O|O|0O]| x
Mark free Black with yellowdot| F-Z | O | O | O | OO |O|O O[O |O|O[O|O|O|O|O|O[O|O|O]| x
Non-adhesive (RA) Black F-RA|O|O|O|O[O|O|O|O|O|O[O|O|O|O|O|O|O|O|O|O]| x

359



PN

Pad with locking fitting / PNTK - PNYK

. How to order

® @ 6
PN[T]K -[101] - [N]

) Vacuum port (2 Pad diameter (mm) (3 Pad rubber material

(/2]
©
1]
(o
c
2
e
Q
=
n

T Top port 101 | ¢31 114 | 017 NBR (Nitrile rubber)(101/116/122/130A/130B/131)

102 | 25 116 _| 18

104 | ¢24.8 121 | ¢31 Urethane rubber(104/110/116/125/130B)

N

Y | Sideport 108 | ¢25 117 | o17.6 S |Silicone rubber(101/114/116/117/121/130A/1308/131)
u
F

106 025 122 034 -
107 049 123 015 Fluorine rubber(130B)

108 | 040 125 | 024 o Natural rubber(101/102/103/104/106/107/
109 | ¢17 130A | 620 108/109/110/111/112/114/123)

110 | ¢23 | [ 130B | ¢20
11| 025 131 | 025
112 | 027

Note) Please consult with us for other material.

. Fitting specifications

Description Other pad than 107/108 107/108
Vacuum port type Top port Side port Top port Side port
Connection Without connector X X Rc1/8 Rc1/8
type Barb connector |¢6><4 O (M5) O (M5) O (M5) O (M5)
Fitting attachment type Male screw Female screw Male screw Female screw

. Pad standard specifications

Symbol Material Hardness (Hs) Ambient temperature Color Volume resistivity

N NBR (Nitrile rubber) A55/S -26 ~ 120C Black -

S Silicone rubber A55/S -60 ~ 250C white -

U Urethane rubber A55/S -20 ~ 75T Blue -

NR Natural rubber A40/S -60 ~ 80C Light brown -

F Fluorine rubber A70/S -10 ~ 230C Black with white dot -

. Applicable fitting table

Round pad
How to order

101 (102|103 | 104 [ 106 [ 107 | 108 | 109 [ 110 | 111 | 112|114 (116 | 117 | 121 | 122 [ 123 | 125 | 130A | 130B | 131

PFTK-25-K OjJ]o O] O]|O0O OO0 |O O

Top

PFTK-60-K O | O
port

PFTK-15-K O oO|J]Oo O[O oO|l]Oo|]O|0O]O

Fittin
o PFYK-25-K oOjJ]o|O]|] OO OO |O O

Side

PFYK-60-K O | O
port

PFYK-15-K O O|]O O[O O|l|Oo|]O|[O]O

TN-PN-101-M6 | O

TN-PN-102-M6 (@]

TN-PN-103-M6 O

TN-PN-104-M6 o] O Ol O

TN-PN-107-M10 (@]

TN-PN-108-M10 (@]

Female | TN-PN-109-M5 o)
screw | TN-PN-112-M6 o
TN-PN-114-M5 o)
TN-PN-116-M5 oo o
TN-PF-20-M5 o
TN-PN-122-M6 0
TN-PN-123-M5 o
TN-PN-130-M5 olo|o

Note) A setting screw is needed to attach the pad to the fitting.

360



PN

Dimensions (mm) (75
c
Top port/PNTK Q
G 1]
0G 2 (@)
oH oH -
F G e
M5x0.8 . - g.
ERRY, . _ o
[m]
w
UBSE )
I loje 1] L
E Z
z
| - ©
. \l |
] l © =, > .
i I
oA oA oA
PNTK- 103,/104,/106 PNTK-107,7108
101,/102,/122 PNTK-13071117115 /
) oH 0
— —
= 3 =
M5><Fo.8 EB - MBX0.8 ‘E _ M5x08 ||} -
K / F Cé E\q "
q? - - | o
- - faa)
E o o wi ol m <l o
. B E i V. E y
:K_E Z % N V4 ; N
l . e
o f &) ‘ ©
| Za >
oA oA oA
PNTK-109 PNTK-114 PNTK-116,7117,/125
G
0 G
oH 06 oH
oH
- =
H H .
0 M5X0.8 -
M5x0.8 i - i _ F LJB
FK l\/|5><'9.8 E[B e
K KOS
T LA <} >4
v@ - s8] - E
@) v@ | Al o o om
E | N
| £ z | N
Z ‘ ) o
y 7 ‘
> | &) z ‘
- ) ‘ °
i 7 ' > —
> \
oA oA oA
PNTK-121 PNTK-123 PNTK-130A,/130B

361



PN

(72]
©
1]
o
c
2
e
Q
=
n

362

M5X0.8

a
m
J
o
>-\b s W
— ‘
e
PNTK-131

PNTK A B C D E F G H | J K N Y 4 Mass (g)
PNTK-101 35 | 657 | 65 | 332 | 14H| M10X15 5 3 | 11| 20 | 14H| 15 | 45 | M6X1.0 68
PNTK-102 27 | 632| 5 |332| 14H| M10X15 5 3 | 11| 20 | 14H| 14| 4 | M6X10 67
PNTK-122 35 [ 652 | 75 | 332 | 14H| M10X15 5 3 | 11| 20 | 14H|135| 6 | M6X1.0 68
PNTK-103 30 [ 662 | 20 | 332 | 14H| M10X15 5 3 | 11| 20 |14H| 2 | 15| M6X10 47
PNTK-104 28 | 652 | 19 | 332 14H| M10X15 5 3 | 11| 20 | 14H| 2 | 15| M6X10 47
PNTK-106 27 | 652 | 19 | 332 | 14H| M10X15 5 3 | 11| 20 |14H| 2 | 15| M6X10 39
PNTK-110 23 | 652 | 19 | 332 14H| M10X15 5 3 | 11| 20 |14H| 2 | 21 | M6X10 39
PNTK-111 26 | 642 | 18 | 332 | 14H| M10X15 5 3 | 11| 20 | 14H| 2 | 04 | M6X1.0 39
PNTK-112 27 | 657 | 195|332 | 14H| M10X15 5 3 | 11| 20 | 14H| 2 2 | M6X10 39
PNTK-107 49 | 94 | 50 | 40 | 21H| M16X15 | Rc1/8 23 [ 21H| 4 9 |M10X125 168
PNTK-108 40 | 89 | 45 | 40 | 21H| M16X15 | Rc1/8 23 [ 21H| 4 | 65 |[M10X125 166
PNTK-109 20 | 537 | 175|232 | 10H| M8X125 5 3 | 11| 156 | 10H| 2 M5X0.8 17
PNTK-114 17 | 502 | 14 | 232 | 10H| M8X1.25 5 3 | 11| 156 | 10H| 2 M5X0.8 17
PNTK-116 18 | 452| 9 |232]| 10H| M8X125 5 3 | 11| 156 | 10H| 2 | 066| M5X08 18
PNTK-117 18 | 462 | 10 | 232 | 10H| M8X1.25 5 3 | 11| 156 | 10H| 2 | 23 | M5X08 18
PNTK-125 25 [ 452| 9 [232| 10H| M8X125 5 3 | 11| 15 | 10H| 2 | 03 | M5X038 18
PNTK-121 31 | 45 | 12 | 22 | 10H| M8X125 5 3 | 11| 15 | 10H 4 | M5X08 18
PNTK-123 15 | 467 | 45 | 232 | 10H| M8X1.25 5 3 | 11| 15 | 10H| 8 | 07 | M5X08 22
PNTK-130A 20 | 587 | 225|232 | 10H| M8X125 5 3 | 11| 15 | 10H| 2 | 05 | M5X038 22
PNTK-130B 20 | 587 | 225|232 | 10H| M8X125 5 3 | 11| 156 | 10H| 2 1 | M5X08 21
PNTK-131 25 | 537 | 175|232 | 10H| M8X1.25 5 3 | 11| 15 | 10H] 2 2 | M5X08 22




PN

Dimensions

(mm)
Side port/PNYK
M5x0.8 LS
| L a
AN
5 Y
o )
=P
I AN
A Z
O
i 2
>— t
3 o
|
oA
PNYK-101,/102,/122 pNYK-103//104,/106 PNYK-107./108
11071117112
X0.
M5 osl oK M5X0.8 oK
F
\ - | \ } e M5X0.8 oK
! | RY:
) ‘j' \ ,1/
] '
(D$ — — o E
°. N E OF 7= o o -
:g_ b - ol N 9$ - ‘(E— o ®$ o -_—"‘__m_;[- @]
=< S < VA = N TEE £ | o
| e o 7 — N
| | P
! © i IS) |
| ‘ | o
. | |
! [ > i
OA oA oA
PNYK-109 PNYK-114 PNYK-116,/117,/125
M5X0.8 oK
F
t o
L P
M5X0.8 oK |
| F -
\ OTE
I .| /_F ) 9$
\[ Tl 5 E I
silp\a =———a
OF 77— = o eI _:é om
o Z ' -
> | O | O >
| > |
oA oA
PNYK-121 PNYK-123 PNYK-130A,7130B

363

2]
c
T
<.
o
=
©
Y
Q.
»




PN

(72]
©
1]
o
c
2
e
Q
=
n

364

M5X0.8

¢}
PNYK-131

PNYK A B C D E F G H | J K N Y Z Mass (g)
PNYK-101 35 | 547 | 65 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 | 15 | 45 | M6X10 72
PNYK-102 27 | 522| 5 | 332| 14H|M6depth8| 5 3 18 | 20 | 12 | 14 4 | M6X10 71
PNYK-122 35 [ 542 | 75 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 [ 135]| 6 | M6X10 72
PNYK-103 30 [ 552| 20 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 25 | M6X10 51
PNYK-104 28 | 542 | 19 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 23 | M6X10 51
PNYK-106 27 | 542 | 19 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 35| M6X10 43
PNYK-110 23 | 542 | 19 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 49 | M6X10 43
PNYK-111 26 | 532 | 18 | 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 25 | M6X10 43
PNYK-112 27 | 547 | 195| 332 | 14H| M6depth8| 5 3 18 | 20 | 12 2 | 32 | M6X10 43
PNYK-107 49 | 94 | 50 | 40 | 21H|M8depth 11| Rc1/8 28 | 17 4 9 |[M10X125 164
PNYK-108 40 | 90 | 45 | 40 | 21H|M8depth 11| Rc1/8 28 | 17 4 | 65 [M10X125 162
PNYK-109 20 | 427 | 175| 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 M5 X 0.8 20
PNYK-114 17 | 392 | 14 | 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 M5 X 0.8 20
PNYK-116 18 | 342| 9 |[232]| 10H|M4depth6| 5 3 16 | 14 | 10 2 | 24 | M5X08 21
PNYK-117 18 | 352 | 10 [ 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 | 43 | M5X08 21
PNYK-125 25 [ 342 9 | 232| 10H| M4 depth6| 5 3 16 | 14 | 10 2 14 | M5X08 21
PNYK-121 31 | 34 | 12 | 22 | 10H| M4 depth6| 5 3 16 | 14 | 10 4 | M5X08 21
PNYK-123 15 | 357 | 45 | 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 8 | 07 | M5X08 25
PNYK-130A 20 | 477 | 225| 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 | 05| M5X08 25
PNYK-130B 20 | 477 | 225| 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 1 M5 X 0.8 24
PNYK-131 25 | 427 | 175| 232 | 10H| M4 depth6| 5 3 16 | 14 | 10 2 2 | M5X08 25




PN

L] - - L]
Pad with spring fitting / NAPNTS - YS »
c
(1]
~p
o
How to order =
©
@® @ @ ®
Q.
NAPN[T|S -[114-3]-[N]-[T] »
(1 Vacuum port (3) Pad rubber material
T | Topport N |NBR (Nitrile rubber)(101/116/122/130A/130B/131)
Y | Side port S  |[Silicone rubber(101/114/116/117/121/130A/130B/131)
2 Pad diameter — stroke (mm) U [Urethane rubber(104/110/116/125/130B)
101-6 | ¢31-6 109-3 | ¢17-3 121-6 | ¢31-6 _ F |Fluorine rubber(1308)
101-15| ¢31-15 109-10| $17-10 121-15 | $31-15  NR Natural rubber (101/102/103/104/106/107/
108/109/110/111/112/114/123)

101-30| ¢31-30 | [109-15| ¢17-15 | | 121-30 | ¢31-30
102-6 | $25-6 110-6 | 923-6 122-6 | 034-6
102-15| ¢25-15 | |110-15| ¢23-15 | | 122-15 | $34-15 (@ Connector

Note) Please consult with us for other material.

102-30| ¢25-30 | [110-30| ¢23-30 | | 122-30 | 34-30  Blank Without
103-6 | 025-6 111-6 | 025-6 123-3 | 015-3 T Barb connector
103-15| ¢25-15 | [111-15| ¢25-15 | [ 123-10 | ¢15-10 O | Pushin connector

103-30| ¢25-30 | [111-30| ¢25-30 | | 128-15 | ¢15-15
104-6 | ¢24.8-6 | | 112-6 | 027-6 125-3 | ¢24-3
104-15| 024.8-15 | [112-15] ¢27-15 | [ 125-10 | 924-10
104-30 | 024.8-30 | [112-30| ¢27-30 | [ 125-15 | ¢924-15
106-6 | 25-6 114-3 | ¢17-3 | [130A-3 | ¢20-3
106-15| 025-15 | [114-10| ¢17-10 | [130A-10| ¢20-10
106-30| 025-30 | [114-15] ¢17-15 | [130A-15| ¢920-15
107-10| 049-10 | [116-3 | o18-3 | [130B-3| ¢20-3
107-30| 049-30 | [116-10] o18-10 | [130B-10| ¢920-10
107-50| 049-50 | [116-15| ¢18-15 | [130B=15| ¢20-15
108-10| 040-10 | [117-3 | ¢17.6-3 | | 181-3 | ¢25-3
108-30| 040-30 | [117-10] ¢17.6-10 | | 131-10 | 925-10
108-50| 040-50 | [117-15] ¢17.6-15 | | 181-15 | ¢925-15

Fitting specifications

Description 107/108 else 107/108
Vacuum port type Top port Side port Top port Side port
Connection Without connector M5 M5 Rc1/8 Rc1/8
Barb connector |66 x 4 O (M5) O (M5) X X
type Push-in connector | ¢6 x 4 O (M5) O (M5) X X
Fitting attachment type Male screw Male screw Male screw Male screw

Pad standard specifications

Symbol Material Hardness (Hs) | Ambient temperature Color Volume resistivity
N  |[NBR (Nitrile rubber) A55/S -26 ~ 120C Black -
S  |[Silicone rubber A55/S -60 ~ 250C white -
U |Urethane rubber A55/S -20~75C Blue -
F  [Fluorine rubber A70/S -10 ~ 230C Black with white dot -
NR |Natural rubber A40/S -60 ~ 80C Light brown -

Note) Volume resistivity shows conductivity, resistance value is per cm®.

365



PN

(72]
©
1]
o
c
2
e
Q
=
n

. Applicable fitting table

How to order

Round pad

101

102

103

104

106

107

108

109

110

11

112

114

116

117

121

122

123

125

130A

1308

Top
port

Fitting

NAPFTS-20B-6-K

O

O

NAPFTS-20B-15-K

O

O

O

O

O

O

NAPFTS-20B-30-K

O

O

NAPFTS-60-10-K

NAPFTS-60-30-K

NAPFTS-60-50-K

NAPBTS-20-6-K

NAPBTS-20-15-K

O

NAPBTS-20-30-K

NAPCTS-10-3-K

NAPCTS-10-10-K

O

O

O

O

O

o

O

O

O

NAPCTS-10-15-K

Side
port

NAPFYS-20B-6-K

NAPFYS-20B-15-K

O

O

O

O

O

O

O

O

O

NAPFYS-20B-30-K

NAPFYS-60-10-K

NAPFYS-60-30-K

O

NAPFYS-60-50-K

NAPJYS-20-6-K

NAPJYS-25-15-K

O

NAPJYS-20-30-K

NAPJYS-10-3-K

NAPCYS-10-10-K

o

(@]

(©]

(@]

(©]

o

NAPCYS-10-15-K

Female screw

TN-PN-101-M6

TN-PN-102-M6

TN-PN-103-M6

TN-PF-104-M6

TN-PN-107-M10

TN-PN-108-M10

TN-PN-109-M5

TN-PN-112-M6

TN-PN-114-M5

TN-PN-116-M5

TN-PF-20-M5

TN-PN-122-M6

TN-PN-123-M5

TN-PN-130-M5

Note) A setting screw is needed to attach the pad to the fitting.

366



PN

Dimensions (mm) (75
c
85 .06 05 06 3
_ j& . o o
1 9 A =)
MEX08 | M5X08 | o)
' N ITe)
M14x1 [ = M14x1 [~ ‘ g_
B [ i © 7
i O] : w
i o ‘ o
MBx08 | | w u5x08 | | w
SR AN 1 NG S| ISR T
M6 X 1 o MBX 1
17H o ST o
o i
N bl L fes
A A
101,/102,/122 103,/104,7106,/110,/111,/112
Rc1/8 05 06
K
' [
M22x15 | . =l b
. 30H © N Ja.
| © -
ol M5x08 [ i
L M8x0.75 | &2
. o
Rot8 ||| “la ® I i
' ‘ M5x08 |
SENM 220 g ’ w| e
oy ol IS o o
M10x125 —ft M5X08 1
@ S
i N
O f
f | lo25 @ 015
0A @l 920
1077108 109
05 . 06 05 06
N E—
M5x0.8 ]
> M8x0.75 | >
- « | 3 pH  Clu
X0. i o
—fa M5X08 | | -
i 0H  © 2L N op e
M5 X0.
M5x0.8 N ~ : O? @
: - i
015 of 025
017 0A
114 116,117,/125

367



PN

) . Dimensions (mm)
e
1]
(o} ®5 06 65 ., 06
c 3 - =
2 = ) =l &
e T Y B
o M5x0.8 ! =
= | . M5X0.8 ]
»n Miax1 [ ' |
| | M8x0.75 | s
O] w 4
ol ° MEX08 | o
Msx08 ¢ || w N w
2 S 4 o of TSI on
— <
M5x0.8 - ~ M5x0.8 2 N
- q
i g )
|
025 D_] 02 .
031 © 015 S
121 123
05 06 5 j_]é@
E ) @
o M5 x 0.8 f’fi
w M8 x 0.75 ! ©
[EN] a [T
©
0 w ©
Vo]
N
©
020 ©
&
130A/130B

368



PN

NAPNT/ YS A B © D E F G Fi F2 Mass (g) (75)
NAPNT/ YS-101-6 35 225 45 905 6 36 28 245 343 875 c
NAPNT/ YS-101-15 35 225 45 995 15 | 36 28 245 493 925 o
NAPNT/ YS-101-30 35 225 45 1365 30 | 58 50 295 5.88 1175 (=
NAPNT/ YS-102-6 27 20 4 88 6 36 28 245 343 865 o
NAPNT/ YS-102-15 27 20 4 97 15 | 36 28 245 493 915 =
NAPNT/ YS-102-30 27 20 4 134 30 | 58 50 295 5.88 1165

NAPNT/ YS-122-6 35 22 6 90 6 36 28 245 343 88 O
NAPNT/ YS-122-15 35 22 6 99 15 | 36 28 245 493 93 o
NAPNT/ YS-122-30 35 22 6 136 30 | 58 50 295 5.88 118 Q.
NAPNT/ YS-103-6 30 23 15 91 6 36 28 245 343 705 ()
NAPNT/ YS-103-15 30 23 15 100 15 | 36 28 245 493 755

NAPNT/ YS-103-30 30 23 15 137 30 | 58 50 295 5.88 1005

NAPNT/ YS-104-6 25 22 15 90 6 36 28 245 343 68

NAPNT/ YS-104-15 25 22 15 99 15 | 36 28 245 493 73

NAPNT/ YS-104-30 25 22 15 136 30 | 58 50 295 5.88 98

NAPNT/ YS-106-6 27 22 15 90 6 36 28 245 343 68

NAPNT/ YS-106-15 27 22 15 99 15 | 36 28 245 493 73

NAPNT/ YS-106-30 27 22 15 136 30 | 58 50 295 5.88 98

NAPNT/ YS-110-6 23 22 2.1 90 6 36 28 245 343 68

NAPNT/ YS-110-15 23 22 21 99 15 | 36 28 245 493 73

NAPNT/ YS-110-30 23 22 21 136 30 | 58 50 295 5.88 98

NAPNT/ YS-111-6 26 21 1 89 6 36 28 245 343 68

NAPNT/ YS-111-15 26 21 1 98 15 | 36 28 245 493 73

NAPNT/ YS-111-30 26 21 1 135 30 | 58 50 295 5.88 98

NAPNT/ YS-112-6 27 225 2 905 6 36 28 245 343 685

NAPNT/ YS-112-15 27 225 2 995 15 | 36 28 245 493 735

NAPNT/ YS-112-30 27 225 2 1365 30 | 58 50 295 5.88 985

NAPNT/ YS-107-10 51 54 9 161 20 8.82 118 310

NAPNT/ YS-107-30 51 54 9 191 50 / /1 &6 156 344

NAPNT/ YS-107-50 51 54 9 216 75 / / 833 196 371

NAPNT/ YS-108-10 43 49 65 156 20 | / / 882 118 310

NAPNT/ YS-108-30 43 49 65 186 50 |/ / 6.76 156 344

NAPNT/ YS-108-50 43 49 65 211 75 833 196 371

NAPNT/ YS-109-3 705 3 23 17 061 077 215

NAPNT/ YS-109-10 775 10 | 23 17 061 117 22

NAPNT/ YS-109-15 90 15 | 305 | 245 064 117 245

NAPNT/ YS-114-3 67 3 23 17 061 077 205

NAPNT/ YS-114-10 74 10 | 23 17 061 117 21

NAPNT/ YS-114-15 865 15 | 305 | 245 064 117 235

NAPNT/ YS-116-3 18 12 066 62 3 23 17 061 077 215

NAPNT/ YS-116-10 18 12 066 69 10 | 23 17 061 117 22

NAPNT/ YS-116-15 18 12 066 815 15 | 305 | 245 064 117 245

NAPNT/ YS-117-3 18 13 23 63 3 23 17 061 077 215

NAPNT/ YS-117-10 18 13 23 70 10 | 23 17 061 117 22

NAPNT/ YS-117-15 18 13 23 825 15 | 305 | 245 064 117 245

NAPNT/ YS-125-3 25 12 03 62 3 23 17 061 077 22

NAPNT/ YS-125-10 25 12 03 69 10 | 23 17 061 117 225

NAPNT/ YS-125-15 25 12 03 815 15 | 305 | 245 064 117 25

NAPNT/ YS-121-6 77 6 36 28 245 343 655

NAPNT/ YS-121-15 / / 86 15 36 28 245 493 705

NAPNT/ YS-121-30 / / 123 30 | 58 50 295 5.88 955

NAPNT/ YS-123-3 / / 635 3 23 17 061 077 245

NAPNT/ YS-123-10 / / 705 10 23 17 061 117 25

NAPNT/ YS-123-15 / / 83 15 | 305 | 245 0.64 117 275

NAPNT/ YS-130A-3 / / 05 755 3 23 17 061 077 255

NAPNT/ YS-130A-10 / / 05 825 10 23 17 061 117 26

NAPNT/ YS-130A-15 / / 05 95 15 | 305 [ 245 064 117 285

NAPNT/ YS-130B-3 / / 1 755 3 23 17 061 077 255

NAPNT/ YS-130B-10 / / 1 825 10 23 17 061 117 26

NAPNT/ YS-130B-15 / / 1 95 15 | 305 | 245 0.64 117 285

NAPNT/ YS-131-3 / / 2 705 3 23 17 061 077 255

NAPNT/ YS-131-10 / / 2 775 10 23 17 061 117 26

NAPNT/ YS-131-15 90 15 | 305 | 245 0.64 117 285

Note) Symbol F' in the table shows a spring load (N) at 0 stroke, and F? at full stroke.

Connector mass(g)

Tube O.D ¢4 Tube O.D ¢6
T 0.5 1.5
O 3.0 4.0

369



PN

N Pad with spring fitting, non-rotative / NAPNTH - YH
3
c
1=l How to order
=
S O) @ @
(7] NAPN[T]H -[114-3 |- [N]-[T]
(1 Vacuum port (@ Pad rubber material
T Top port N | NBR (Nitrile rubber)(101/116/122/130A/130B/131)
Y Side port Silicone rubber(101/114/116/117/121/130A/130B/131)

(2 Pad diameter - stroke (mm)

S
U [ Urethane rubber(104/110/116/125/130B)
F | Fluorine rubber(130B)

101-6 | ¢31-6 111-6 | ¢25-6 123-3 | ¢15-3
Natural rubber(101/102/103/104/106/
101-15| ¢31-15 | [111-15| ¢25-15 123-10 | 15-10  NR 109/110/111/112/114/123)

101-30| ¢31-30 111-30| ¢25-30 123-15 | $15-15  Note) Please consult with us for other material.
102-6 025-6 112-6 | ¢27-6 125-3 | ¢24-3
102-15| ¢25-15 | [112-18] 027-15 | [ 125-10 | 924-10 @ Connector type

102-30 ¢25-30 | [112-80| ¢27-30 | | 125-15 | 924-15 Tgymy) Blank
103-6 | 025-6 | |114-3| ¢17-3 | [130A-3| ¢20-3 T Barb connector
103-15| 625-15 | [114-10| ¢17-10 | [130A-10| ¢20-10 O | Push—in connector

103-30| ¢25-30 | [114-15| ¢17-15 | [130A-15| ¢20-15
104-6 | ¢24.8-6 | [116-3| 018-3 | |130B-3 | ¢20-3
104-15| ¢24.8-15 | [116-10| ¢18-10 | [130B=10| 620-10
104-30| ¢24.8-30 | [116-15| ¢18-15 | [180B-15| ¢20-15
106-6 | ¢25-6 | | 117-3 | ¢17.6-3 | | 181-3 | ¢25-3
106-15| ¢25-15 | [117-10| ¢17.6-10 | | 181-10 | ¢25-10
106-30| ¢25-30 | |117-15| ¢17.6-15 | | 181-15 | ¢25-15
109-3 | ¢17-3 | | 121-6| ¢31-6
109-10 ¢17-10 | [121-15| ¢31-15
109-15| ¢17-15 | [121-30| ¢31-30
110-6 | ¢23-6 | |122-6| ¢34-6
110-15| ¢23-15 | [122-15| ¢34-15
110-30| ¢23-30 | [122-30| ¢34-30

Fitting specifications

Description Vacuum port
Vacuum port Top port Side port
Connection Without connector M5 M5
Barb connector |6 x 4 O (M5) O (M5)
type Push-in connector | $6 x 4 O (M5) O (M5)
Fitting attachment type Male screw | Male screw

Pad standard specifications

Symbol Material Hardness (Hs) | Ambient temperature Color Volume resistivity
N |NBR (Nitrile rubber) A55/S -26 ~ 120C Black -
S |Silicone rubber A55/S -60 ~ 250°C white -
U |Urethane rubber A55/S -20 ~75C Blue -
F  |Fluorine rubber A70/S -10 ~ 230C Black with white dot -
NR |Natural rubber A40/S -60 ~ 80C Light brown -

Note) Volume resistivity shows conductivity, resistance value is per cmd.

370



PN

. Applicable fitting table

How to order

Round pad

104

106

109

111

112

114

116

117

121

122

123

125

130A

130B| 131

Top
port

Fitting

NAPFTH-20B-6-K

(@]

O

NAPFTH-20B-15-K

O

NAPFTH-20B-30-K

O

NAPBTH-20-6-K

NAPBTH-20-15-K

NAPBTH-20-30-K

NAPCTH-10-3-K

NAPCTH-10-10-K

O

O

O

o

O

O

O

(@]
O

NAPCTH-10-15-K

Side
port

NAPFYH-20B-6-K

NAPFYH-20B-15-K

O

o

O

(@]

o

o

NAPFYH-20B-30-K

NAPBYH-20-6-K

NAPBYH-20-15-K

NAPBYH-20-30-K

NAPCYH-10-3-K

NAPCYH-10-10-K

o

(©]

(©]

o

O

o
(@]

NAPCYH-10-15-K

Female
screw

TN-PN-101-M6

TN-PN-102-M6

TN-PN-103-M6

TN-PF-104-M6

TN-PN-109-M5

TN-PN-112-M6

TN-PN-114-M5

TN-PN-116-M5

TN-PF-20-M5

TN-PN-122-M6

TN-PN-123-M5

TN-PN-130-M5

Note) A setting screw is needed to attach the pad to the fitting.

371

72,
c
(1)
=
o
-
©
o
Q.
(7]




PN

(7]
o
©
Q.
c
o
l;
o
>
2

Dimensions
05 06
T LA
M5x%0.8 |
! [t}
M14x1 | |
4| | Of
0] 19H
wsxos || o
AN | w
b TN Can g
M6 X 1 !
Ny ' 17H o
63
®A
101,/102,/122
05 06
l___-+.____1
—
M5 X0. i_ L
M8x0.75 ! . 2
® | B o | w
M5x0.8 |
' w
SEIIN!, 10H ©
M5X0.8
w0
Q] Q
015
020
109
05 6
i__.__+_,~__1
—
M5x0.8 l— J
wexa7s | d =
| 10}
«® | é 12H | %
M5X0.8 !
) | LL'
0] h q LD_
M5%0.8 10H Y
. 12H o
(@]
f 025
oA
116,/117./125

372

5 06
o % J;’____a
M5x0.8 | o
M14X 1 ; ;‘
P of .
03 ﬁ 19H
i )

M5 X i i w

23 1o UH 5
M6EX 1 -

oy

03

oA

103,7104,/106,7110,/111,/112

¢5 Pl ¢6
L____J_____J
—
msxos [
— -
M8X0.75
3= E 12H® -
|
M6X08 | , o e
«, SEL 10w
M5X0.8 o o
015
017
114
05 06
i ®
SRS
M5X0.8 i
— w
Miaxi | :
—
| CIN
0 19H
| ' Vo
M5X08 ,
| ' w
| 1
o7 ]
M5x08 - 190w
< : N
025
631

121




PN

Dimensions (mm) (7))
c
95 L . 06 $5 . $6 2
- - 2 o
—i_ é “L % -
N S — [N go]
| M5x0.8 1 o
I_’_'. | ' Q.
M5X08 | | M8X0.75 | © v
. — |
M8X0.75 , ; = ®
- ! @ AR 120 | -
@ 2H” | w i
~ |
| 1 M5X08 ! | -
M5%08 | o N o
! A bl NI o o
© ! y
" 10H M5x0.8 . -
208 10H "
y 0} o
1 '
g]\ 62 <2 625
615 020
123 130A/130B

|15

20.5

373



PN

(7)) NAPNT/ YH A B © D E F G F1 F2 | Mass (g)
Ho) NAPNT/ YH-101-6 35 225 45 905 6 36 28 245 343 86
(4+] NAPNT/ YH-101-15 35 225 45 995 15 36 28 245 49 91
o NAPNT/ YH-101-30 35 225 45 1365 30 58 50 29 5.88 115
NAPNT/ YH-102-6 27 20 4 88 6 36 28 245 343 85
c NAPNT/ YH-102-15 27 20 4 97 15 36 28 245 49 90
. 9 NAPNT/ YH-102-30 27 20 4 134 30 58 50 29 588 114
| NAPNT/ YH-122-6 35 22 6 90 6 36 28 245 343 865
o NAPNT/ YH-122-15 35 22 6 99 15 36 28 245 49 915
- NAPNT/ YH-122-30 35 22 6 136 30 58 50 29 5.88 1155
90} NAPNT/ YH-103-6 30 23 15 91 6 36 28 245 343 69
NAPNT/ YH-103-15 30 23 15 100 15 36 28 245 49 74
NAPNT/ YH-103-30 30 23 15 137 30 58 50 29 5.88 98
NAPNT/ YH-104-6 25 22 15 90 6 36 28 245 343 665
NAPNT/ YH-104-15 25 22 15 99 15 36 28 245 49 715
NAPNT/ YH-104-30 25 22 15 136 30 58 50 29 5.88 955
NAPNT/ YH-106-6 27 22 15 90 6 36 28 245 343 665
NAPNT/ YH-106-15 27 22 15 99 15 36 28 245 49 715
NAPNT/ YH-106-30 27 22 15 136 30 58 50 29 5.88 955
NAPNT/ YH-110-6 23 22 2.1 90 6 36 28 245 343 665
NAPNT/ YH-110-15 23 22 2.1 99 15 36 28 245 49 715
NAPNT/ YH-110-30 23 22 2.1 136 30 58 50 29 5.88 955
NAPNT/ YH-111-6 26 21 1 89 6 36 28 245 343 665
NAPNT/ YH-111-15 26 21 1 98 15 36 28 245 49 715
NAPNT/ YH-111-30 26 21 1 135 30 58 50 29 5.88 955
NAPNT/ YH-112-6 27 225 2 905 6 36 28 245 343 67
NAPNT/ YH-112-15 27 225 2 995 15 36 28 245 49 72
NAPNT/ YH-112-30 27 225 2 1365 30 58 50 29 5.88 96
NAPNT/ YH-109-3 705 3 23 17 061 077 22
NAPNT/ YH-109-10 / /1 775 10 23 17 061 117 225
NAPNT/ YH-109-15 / / 90 15 305 | 245 0.64 117 255
NAPNT/ YH-114-3 / / 67 3 23 17 061 077 21
NAPNT/ YH-114-10 / / 74 10 23 17 061 117 215
NAPNT/ YH-114-15 865 15 305 | 245 064 117 245
NAPNT/ YH-116-3 18 12 066 62 3 23 17 061 077 22
NAPNT/ YH-116-10 18 12 066 69 10 23 17 061 117 225
NAPNT/ YH-116-15 18 12 066 | 815 15 305 | 245 064 117 255
NAPNT/ YH-117-3 18 13 23 63 3 23 17 061 077 22
NAPNT/ YH-117-10 18 13 23 70 10 23 17 061 117 225
NAPNT/ YH-117-15 18 13 23 825 15 305 | 245 064 117 255
NAPNT/ YH-125-3 25 12 03 62 3 23 17 061 077 225
NAPNT/ YH-125-10 25 12 03 69 10 23 17 061 117 23
NAPNT/ YH-125-15 25 12 03 815 15 305 | 245 064 117 26
NAPNT/ YH-121-6 77 6 36 28 245 343 64
NAPNT/ YH-121-15 / / / 86 15 36 28 245 49 69
NAPNT/ YH-121-30 / / / 123 30 58 50 29 588 93
NAPNT/ YH-123-3 / [T/ 635 3 23 17 061 077 25
NAPNT/ YH-123-10 / [ 1/ 705 10 23 17 0.61 117 255
NAPNT/ YH-123-15 / / 83 15 305 | 245 064 117 285
NAPNT/ YH-130A-3 / / 05 755 3 23 17 061 077 26
NAPNT/ YH-130A—10 / / 05 825 10 23 17 061 117 265
NAPNT/ YH-13A-15 / / 05 95 15 305 | 245 064 117 295
NAPNT/ YH-13B-3 / / 1 755 3 23 17 061 077 26
NAPNT/ YH-13B-10 / / 1 825 10 23 17 061 117 265
NAPNT/ YH-13B-15 / / 1 95 15 305 | 245 0.64 117 295
NAPNT/ YH-131-3 / / 705 3 23 17 061 077 26
NAPNT/ YH-131-10 |/ / 775 10 23 17 061 117 265
NAPNT/ YH-131-15 90 15 305 | 245 064 117 295

Note) Symbol F' in the table shows a spring load (N) at 0 stroke, and F?2 at full stroke.

Connector mass(g)

Tube O.D ¢4 Tube O.D ¢6
T 0.5 1.5
0 3.0 4.0

374



PN

I'hi d / PNG 74
P <
(1]
(=
L 1]
o
How to order =]
©
®© @ o
Q.
PNG - [101] - Z
(@ Pad diameter (mm) (2 Pad rubber material
101 031 114 17 N |NBR (Nitrile rubber)(101/116/122/130A/130B/131)
102 025 116 018 S |Silicone rubber(101/114/116/117/121/130A/130B/131)
103 025 117 | ¢17.6 U |Urethane rubber(104/110/116/125/130B)
104 | ¢24.8 121 031 F |Fluorine rubber(130B)
106 925 122 034 NR Natural rubber(101/102/103/104/106/107/
107 049 123 015 108/109/110/111/112/114/123)
Note) Please consult with us for other material.
108 040 125 024
109 017 130A | ¢20
110 023 130B | ¢20
111 025 131 025
112 027

Pad standard specifications

Symbol Material Hardness (Hs) | Ambient temperature Color Volume resistivity
N  [NBR (Nitrile rubber) A55/S -26 ~120C Black -
S |Silicone rubber A55/S -60 ~ 250°C white -
U |Urethane rubber A55/S -20 ~75C Blue -
F Fluorine rubber A70/S -10 ~ 230°C Black with white dot -

NR [Natural rubber A40/S -60 ~80C Light brown -
Note) Volume resistivity shows conductivity, resistance value is per cmq.
Dimensions (mm)
¢ 15 015
© 610 $10
N ) ?.5 N ) ?.5
o f i
< ‘ _ (o)}
1 - < }
i ;
‘ 025
. 031 627
¢35
PNG-101 PNG-102
012 011.8
78 $5.8
QL |
|
| - |
< ' o
= ! Q ! >
0 | o 0
© — 2 |
Ay =l‘1 .
025
30

PNG-103

375



PN

(7]
o
©
Q.
c
o
S
o
=]
2]

376

Dimensions

1.5
35

14.5

19

PNG-106
24

$ 16

06

21

19

45

6.5

19

2.1

PNG-110

024

017

20

25

50

B - T__ —‘“‘—“‘ﬂ%,

%14

951

PNG-107

$14.8

%10

$3.2

(mm)

6.6

88

17.5

]
|
{
|
|
i

$17

920

PNG-109

912

18

PNG-111




PN

Dimensions (mm) (7))
c
0118 07 2'-
$6.8 (@)
-
| 03 o)
i )
| ol © | 8—
i G| 2 |
N L_; i
. ! i <
927 |
$27.3 '
(012
®17
PNG-112 PNG-114
¢ 11 0115

5 4.7

8 )
Q
° o 0176
018 E
018

PNG-116 PNG-117
015 014
$105
05
|
| 27
1 N
X : o *
!
T © | =
}
Lﬂ '
31 034
©32 635
PNG-121 PNG-122

377



PN

) Dimensions
ge)
©
Q. 0838 0l
c
9 044 22
"5 ‘ |
= $38 t—
2 : q | ]
| ~ i
(32}
— o ¢24
S 025
$9.7
¢ 15
®15.5
PNG-123 PNG-125
012 012
07 7

13.7
OO
——1

13.6

14

225

O
N
o 2
y = ,
; :
g | o2
021 $20
<ty &Y
| B :
PNG-130A PNG-130B

019

12.5
13.5
17.5

PNG-131

378





